version (1.0.1)
27.04.2020

DOCKER O

R~

TAKE
AWAY

WTO 825 WSO 824 WO 824

i = @ oy e INNOVATION
NEW
CAISX TRAC K E- BOX SLIDING GATE




X-TRACK-4.5

X - TRACK - 4.5 WTO 825, FRS 2 SET
: >

X - TRACK - 4.5 WTO 825, GOS 4

WTO 825 ...
ROAD 2,8m
PIN ROAD ..

DOCKER O
FRS2 ..
ENDS...
V6 ...
BOLT M8x20 ..............
ART. SET / kg
KIT X-TRACK............ 25,4 kg
GATES UP TO
[H=1\[cl, | uesmm—EY ) |

CODE: 1710200

SET

WTO 825
ROAD 2,
PIN ROAD ..

GATES UP TO
LENGHT ......cccoouuurrrnnn 45 m

CODE: 1710201

X - TRACK - 4.5 WSO 824, GOS 4

WS0824 .....

GATES UP TO
[H=1[c],) puess————_ |

CODE: 1710202

SET

WSO 824
ROAD 2,8

PIN ROAD ... 2pcs
DOCKERO . ..1pc
GOS4.... .. 1pc
ENDS.... 2pcs
Vi6 ......... 5pcs
BOLT M8x: .4 pcs
KIT X-TRACK.............. 27 kg
GATES UP TO
(1= cT ) pu— X1 |
CODE: 1710203

X-TRACK - 4.5 WO 824, FRS 2
P ;7\\ ) \

‘\\

PIN ROAD
DOCKER
FRS2 ...
END S
V6 ...

GATES UP TO

[H=1\[cl, | peemm——Y ) |

CODE: 1710204

PIN ROAD

DOCKERO .. .. 1pc

GOS4..... .. 1pc

END S .2 pcs

V6 ... werenens 5 PCS

KIT X-TRACK............ 26,5 kg
GATES UP TO

M= (1) e— X1 |

CODE: 1710205

—
CAIS



X-TRACK- 5.5

X - TRACK - 5.5 WTO 825, FRS 2 SET X-TRACK-55WS0824,FRS2  |SET X - TRACK - 5.5 WO 824, FRS 2 SET

CODE: 1710206

WS0 824 ......

CODE: 1710208

ROAD 2,8i .3
ROAD2m .. ROAD2m ROAD2m .
PIN ROAD . pes PIN ROAD . PIN ROAD .. pcs
DOCKER O 1pc DOCKERO .. ..1pc DOCKER O 1pc
FRS 2 .. 1pc FRS2 ... ..1pc FRS2 .
ENDS . pes ENDS ... . ENDS.
V6 ... pes V6 ... . V6 ...
BOLT M8x20 ..............4 pcs BOLT M8x20
ART. SET / k

ART. SET / kg ART. SET / kg KIT X-TRACK............ 29,8 kg
KIT X-TRACK............ 30,4 kg KIT X-TRACK............ 30,4 kg

GATES UP TO GATES UP TO
(M= eT, | pue—_ .1 | \ (M= eT, | pue—_ .1 |

=
(M= [cl, | pemmm—_EY )
\ N

X-TRACK - 5.5 WTO 825, GOS 4 SET X-TRACK - UNO 5.5 WSO 824, GOS 4 |SET SET
- WTO 825 .......... 2pes WS0 824 .........cconeeenn 2 PCS WO 824 .......ccoocorireennn 2 PCS
} ROAD 2,8m ROAD 2,8m .. 3 pes ROAD 2,8m 3pes
; ROAD2m. 1pc ROAD2m ... ..1pc ROAD2m .. 1pc
% PIN ROAD . pcs PIN ROAD ... .3 pcs PIN ROAD .. pcs
‘A DOCKER O 1pc DOCKERO .. ..1pc DOCKER O 1pc
] GOS 4 1pc GOS4.... GOS 4.
END S pes ENDS.... . ENDS.
» V6 ... pcs V6 ... .6 p V6 ...
BOLT M8x20 .... 4 pcs BOLT M8x20
W KIT X-TRACK.......... 31,5 kg
w KIT X-TRACK............... 32 kg KIT X-TRACK............... 32 kg

LENGHT ......cccoouuurrrnnn. 5.5m

§ . ‘ CODE: 1710207

LENGHT ......cccoouunrernrn. 5.5m

CODE: 1710209

=

— ~il .
M

Nl

\

CAIS



DETAIL

—

==

Ty

=
\







AN AN AN


















OO0

[=]

600

www.cais.eu



